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General Instructions :

1.

Candidate must write his/her Roll Number on the first page of the Question Paper Booklet.

2. Please check the Question Paper Booklet to verify that the total pages of the booklet and the total

pages printed on the top of the first page tallies each other. Also check to see that the questions are in
sequential order.

. Making any identification mark in the answer-book or writing roll number anywhere other than the

specified places will lead to disqualification of the candidate.
Write your Question Paper Booklet Code No. 53/HIS/1, Set [A] on the answer-book.

. (@) The Question Paper Booklet is in English/Hindi medium only. However, if you wish, you can

answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu, Marathi,
Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri, Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in the box provided in the
answer-book.
(b) If you choose to write the answer in the language other than Hindi and English, the
responsibility for any errors/mistakes in understanding the question will be yours only.
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Important Instructions

1. This Question Paper Booklet contains two Question Papers—one based
on revised study material marked as NEW SYLLABUS and the other
based on pre-revised study material marked as OLD SYLLABUS.

2. NEW SYLLABUS is compulsory for those who have registered for 2015-16
(Block-I and Block-Il) admission and Stream-II of 2016 admission.
(Those who are appearing in September—November, 2016 under
NEW SYLLABUS.)

3. OLD SYLLABUS is compulsory for those candidates who had registered
before 2015-16 (Block-I) admission.

4. Candidates are to answer only one Question Paper from the given two
Question Papers.

5. Candidates are not allowed to mix questions from the two given
Question Papers.
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NEW

This Question Paper contains 27 questions.
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ACCOUNTANCY
[GICICT]

( Principles and Practice of Financial Accounting )

( Toita wrETeRa o Tagra T saaEr )
(320)

Time : 3 Hours | [ Maximum Marks : 100

PITI?I:SH'U%]

Note : (i)
(i)

(iii)

(i)

(iii)

[ qUTieR : 100

This Question Paper has two Sections—Section ‘A’ and Section B’
Attempt all questions of Section ‘A’. Section ‘B’ has two options. Candidates
are required to attempt questions from one option only.

Each question from Question Nos. 1 to 9 has four alternatives—(A), (B), (C)
and (D), out of which one is most appropriate. Choose the correct answer
among the four alternatives and write it in your answer-book against
the number of the question. No extra time is allotted for attempting
multiple-choice questions.
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SECTION-A
Wue-3A

1. Capital reserve is created

(A) to write off capital losses

(B) to meet future contingencies

(C) for a specific purpose

(D) for the future redemption of the long-term debts 1
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2. The amount by which credit side of Trading Account exceeds the debit side is
known as

(A) net profit
(B) gross profit
(C) net loss

(D) gross loss

Stat Uit & =R @ 1 S| UL 38k AW Uel ¥ AR BT § 98 Hedndl §
() s ™
(@) "¥had A
(M) 3 FH
(F) Twa T

3. Which of the following items is a revenue receipt for a not-for-profit
organization?

(A) Honorarium

(B) Subscription

(C) Grant-in-aid

(D) Life membership fee

Teh -ATHRR G184 & foru e wei ° @ shia-¢ft 9 smm iy 27
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4. In the absence of a partnership deed, a partner who has advanced a loan to the

firm

(A) will get interest at market rate which is 18% p.a.
(B) will get interest at the rate agreed upon between the partners
(C) will get interest at the rate of 6% p.a.

(D) will not get any interest

TTIER Tl o | 2 ol fefa ®, ws 91ekr =i, /e w6 &0 =01 fon 2, =91 um| g
(%) SR L W, ST 18% ek 2

(@) AR & " @ X A

() 6% afe & A
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5. P and Q are partners and sharing profits in the ratio of 4 : 3. R is admitted as a
new partner for %th share which he acquires equally from P and Q. The new

profit- sharing ratio will be

(A) 4:
B) 3
(C) 1:
(D) 5

3:2
1 2
1:

N

A

1
2
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6. The property of a company belongs to
(A) its shareholders
(B) its directors
(C) its debenture holders
(D) the company

3:

1:
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7. The minimum paid-up capital of a public company is
(A) ¥ 1 lakh
(B) ¥ 5 lakh
(C) ¥ 10 lakh
(D) No fixed amount
T Ak Ul il =[ad Yex qofi ardl 2
() T1d@
(@) ¥5d@
([ ¢ 10 9@
(%) =rE Ffvea afin =&

8. The amount of premium on issue of shares can be utilized
(A) for issuing fully-paid bonus shares
(B) to pay off a long-term loan
(C) for paying dividend to shareholders

(D) for paying directors’ remuneration

3791 o frtea R shfererm afSn < 3w foRm ST TRt B
(%) 9ot wea S 3T % i & fog

(@) dH-7aty =0T o PTaH o g

() STeTER F S T S R
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9. A company has issued 500, 10% debentures of ¥ 100 each at a discount of 10%
redeemable at a premium of 10%. The 10% Debenture A/c will be credited by

(A) ¥ 45,000
(B) ¥ 55,000
(C) ¥ 50,000
(D) ¥ 60,000

320/HIS/112A 6



T ot 4 € 100 9fd % 500, 10% RO Sl 10% =g W ifua o e wmem
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(%) ¥ 45,000
(@) ¥ 55,000
(7)) ¥ 50,000
(&) ¥ 60,000

Explain the following objectives of preparing Financial Statements : 3
(a) Ascertaining the financial position

(b) Helping in managerial decision-making

forfrr feraor s & frer SRt B |wems

(%) fofia fearfa =1 faftor =

(@) veueh fulg @9 § geean e

Explain Fixed Capital Account while preparing Partners’ Capital Accounts.
Name any two items that will be recorded in this Account. 3

TTIERT o S @A IR Fd 999 TIE §Sil @I sl e Fifse | et fheel gt 7ei & am
S fSeerr stfyered 38 dsht @rd # T S 2|

Manoj and Mahesh are partners sharing profits in the ratio of 5: 3. They
admitted Manjeet as a new partner for %th share. Manjeet acquires this

share as %th from Manoj and ith from Mahesh. Manjeet brings in ¥ 24,000

as his share of goodwill.
Pass necessary Journal Entries for treatment of goodwill. 3

TS SR AR WIEER € S 5 ;3 o ST H Sl B SR Hd & | IeH Holld bl Lo |
% fou 1 wrerer & &9 H yerw o] wefld 7 36 W7 k1 Lo HHIN W a1 LAl wew § uiH
form | wsfld € 24,000 399 9w i @@l &% amn|

=i o AfTerEs it ATeavTe Uskrd=n gfafs=r Sifs|

How will you show the following in the Income and Expenditure Account
of a not-for-profit organization for the year ending on 31st March, 20167 5

(i) Rent paid in 2015-16—F 12,000

(ii) Rent due in 2015-16—F 3,000

(iii) Outstanding rent of 2014-15 paid in 2015-16—F 1,500
(iv) Rent paid in 2014-15 for 2015-16—% 2,000

(v) Rent paid for 2016-17—F 4,500

320/HIS/112A 7 [ P.T.O.



31 A=, 2016 @ HAE 98 o& U Tk A-AT9RR] TS o AF-99 Gd | 39 9 &
fore TP quTidn?

(i) 2015-16 # TRUT &1 JaW fFn— 12,000

(i) 2015-16 ¥ 31eq fFm=T—7F 3,000

(i) 2014-15 ¥ 1&q fr it TR &1 2015-16 & Yrae m—7F 1,500

(iv) 2015-16 & fTT 2014-15 ¥ forrg =1 e fwn—e 2,000

(v) 2016-17 % U fRT &1 JIam fFT—F 4,500

14. List any five items which are credited to the Capital Account of the deceased
partner.

Tk HISER o YSfl @Id o ST 981 § forell STHaTel foheal ater 9al shi gl a1y

15. Sant and Ram are partners. On 1st April, 2015, their capitals were ¥ 1,20,000
and ¥ 80,000 respectively. The profit for the year ended on 31st March, 2016
was ¢ 84,000. Prepare Profit and Loss Appropriation Account for the year
ending on 31st March, 2016, showing the distribution of profit after
incorporating the following provisions for their partnership deed :

(i) They will share profits in the ratio of their capitals
(ii) Interest will be allowed on capitals @ 12% p.a.

(iii) Interest will be charged on drawings @ 6% p.a. Interest on drawings to be
charged for full year

(iv) Salary to be paid to Ram @ ¥ 1,000 per month

(v) Sant and Ram withdrew ¢ 16,000 and ¢ 12,000 respectively during
the year

T U W GEER &1 1 e, 2015 H A St FwH: € 1,20,000 R F 80,000 Tl

314M, 2016 I 9H ¥ & fw IAH o € 84,000 o7l Ik TEEH Hol@ Tg

7 Traei 1 FHIE o qeEd, 9 o 3T i a¥iid g¢ 31 HiE, 2016 i GHE 9

& fore ey-giie fafeesm @ aaw Fifs

(i) o AT N TR AT YSi ok TIAE H HAN

(i) ST W 12% aTfies & 9 <11 g smam

(iii) ITTET W 6% ATE R T R I8 o fTT ST TR ST

(iv) T T 1,000 Ifd w18 Ia- fean smn 2

(v) T T T AR I J FA: T 16,000 3R F 12,000 1 AT foman

16. What is meant by a company? Also give the meaning of ‘private company’ and
‘public company’ stating their features.

O 1 A FAey| WY @ TS FO ud wrese el ol faRiareT @ 3g@ wd §u
TehT 379 oft difsg
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17. CB Electronics Ltd. purchased machinery for ¢ 1,98,000 and issued
9% debentures of €100 each to the vendors.

Pass necessary Journal Entries if the debentures were issued (a) at par, (b) at a
premium of ¥ 10, and (c) at a discount of ¥ 10. 5

ot . sorrtee fafds 9 € 1,98,000 it wefi =1 w7 foman qen fagear =1 @ 100 ufd &
9% O] ohT e fomam|

JTTEvTe UsHH=T Tt fifve, afe o (%) 99 9o | S e T, (@) € 10 Siftem
W S fRT e, der (1) € 10 o2 W S few )

18. A company forfeited 100 shares of ¥ 10 each issued at a premium of ¥ 5 each
for non-payment of allotment money of ¥ 9 per share (including premium) and
call money of ¥ 3 per share. 60 of the forfeited shares were reissued for ¥ 8 per
share fully paid-up.

Give Journal Entries in the books of the company for forfeiture and reissue
of shares. S

T HUAT 9 I T 10 Ufd & 100 7w S € 5 Ui Hifrem w S fRr e 9, € 9 ufq et
(Sfiftem wfiifed) omaes Uiyt wa & 3 ufd o7 Jr=an UfT &1 Y T & | Sed & forg|
Sfed fohT 7T 79T | ¥ 60 390 I & 8 Ufd 37 YUl yed qA:Fifea R e e

U <l JEARI § 3TN b STed B T Ik AT 2hi TS Tfafs= i

19. Vikram Advance Technology Ltd. issued for public subscription 50000 shares
of €50 each at a premium of ¥ 10 per share payable as follows :

On application and allotment—?® 40 per share (including premium)
On call— 20 per share

Applications were received for 75000 shares. Allotment was made on pro rata
basis to the applicants of 60000 shares. Remaining applications were rejected
and money was returned. Excess money received with applications was
adjusted towards sum due on call.

Call money was duly received except on 2000 shares held by Mota Bhai. His
shares were forfeited. The forfeited shares were reissued at ¥ 40 per share fully
paid-up.

Pass necessary Journal Entries for the above transactions in the books of the
company. ¢

320/HIS/112A 9 [ P.T.O.
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20. From the following information, calculate the total sales made during the year :

g
Debtors as on 01.01.2015 40,600
Cash Received from Debtors 1,20,000
Bad Debts 1,500
Provision for Bad Debts 2,500
Bills Receivables Received 35,000
Discount Allowed 1,800
Debtors as on 31.12.2015 56,000
Cash Sales 1,20,000
= & STMYR T Y o SRH 83T FA [T J1d i :
SRl g
g
01.01.2015 &l &R 40,600
TSR | 919 Tehg 1,20,000
YT 0T 1,500
YT RO o foTq TTaem 2,500
T fors U g 35,000
T2 TGH I T 1,800
31.12.2015 &l &R 56,000
EETREED 1,20,000
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21. From the following Trial Balance of AB Indigenous Fertilizers, prepare Trading
and Profit & Loss Account for the year ending on 31st March, 2016 and the

Balance Sheet as on that date : 10
Trial Balance of AB Indigenous Fertilizers
as on 31st March, 2016
Particulars Dr. Balances | Cr. Balances
< T
Stock (01.04.2015) 15,000
Purchases 75,000
Sales 1,60,000
Debtors 32,000
Creditors 25,000
Wages 8,000
Carriage Inward 2,000
Salary 16,000
Insurance 4,000
Rent of Godown 16,000
Interest on Loan 3,000
Maintenance 2,000
Mobile Phone Bills 6,000
Plant and Machinery 40,000
Land and Building 60,000
Cash in Hand and
at Bank 26,000
Bank Loan 40,000
Capital 80,000
3,05,000 3,05,000
Adjustments to be made are as follows :
(i) Closing Stock was ¥ 52,000
(ii) Plant and Machinery to be depreciated @ 15% p.a.
(iii) Salaries Outstanding were ¥ 2,000
(iv) Provision to be made on Debtors @ 5% for Doubtful Debts
(v) Bank Loan was taken on 1st April, 2015 @ 15% p.a.
320/HIS/112A 11 [ P.T.O.



u. of. sfefrme wiiarsd & f= ftr 7 aeve @ 31 7, 2016 = 99E 99 & fow =R
T -2 Erar qon 39t fafor s ferfa-faeror aam hifs

u. 1. 3fefoa wilcarssid #1 daue

31 Ir, 2016 Ft
faaor TH 3T ST 99
g g
wi% (01.04.2015) 15,000
w9 75,000
EED 1,60,000
TR 32,000
THER 25,000
Teigd 8,000
ATk TS 2,000
ERE| 16,000
s 4,000
Me™ = R 16,000
SRUT O SIS 3,000
-1 2,000
% fora 6,000
I Ug weid 40,000
qff T wad 60,000
TEAEY Uhs TS b H Uhg 26,000
S w0 40,000
it 80,000
3,05,000 3,05,000

GHIEIS ST fohT S &

(i) Afam wis & 52,000 o
(i) EIF TS WA W 15% oites & W TSR0 AE 8
(i) e 9= € 2,000

(iv) TR R 5% 1 Gl 0N o TI0 Iaem™ T 8

(v) % W FE 1 ATA, 2015 FH 15% dM AT & W foran = on
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OR / 3Ygat

From the following Receipts and Payments Account of Society for Women
Self-Employment (Regd.), prepare Income and Expenditure Account for the
year ending on 31st March, 2016 and a Balance Sheet as on that date : 10

Receipts & Payments A/c of Society for Women Self-Employment
for the year ended on 31st March, 2016

Dr. Cr.
Receipts Amount Payments Amount
¢ ¢

Balance b/d 18,000 | Salary 16,000

Subscription : Electricity Expenses 4,000

2014-15 2,000 Mobile Phone Expenses 6,000

2015-16 24,400 Trainers’ Remuneration 12,000

2016-17 3,000 29,400 | Workshop Expenses 18,000

Fees from Trainees 16,000 | Tools 20,000

General Donation 16,000 | Literature 4,000

Entrance Fees 600 | Furniture 14,000
Govt. Grant 60,000 | FD in Bank

(on 1st October, 2015

@ 10% p.a.) 30,000

Balance c/d 16,000

1,40,000 1,40,000

Additional Information :

(i) Subscriptions outstanding on 31.03.2015 were ¢2,500 and on
31.03.2016 were ¥ 1,800

(i) Furniture to be depreciated at 10% p.a.

(iii) Tools in the beginning of the year were of the value of ¥ 15,000 and at the
end of the year ¥ 15,500

320/HIS/112A 13 [ P.T.O.



RS BR gE deh-TaEE (.) & = fu T Wit td fae @1d % 3R W
31 A=, 2016 @ HATH 99 o U 3 T =¥ @A qI1 hitore qen g&t fafer = ferfa-
foreor oft sATET -

gzt BR gAT Goh-TrqeTiad=2 (T1.) 1 T8 TF YIarH @i
31 e, 2016 H GEH % F 1@

Dr. Cr.
qifear yED YA yEl
¢ ¢

Y 3o o 18,000 | 3aH 16,000

el forstett == 4,000

2014-15 2,000 SIE IR R D) 6,000

2015-16 24,400 Tf3TeTeRt s AT, 12,000

2016-17 3,000 29,400 | FHHETAT T 18,000

TRTETRT ¥ ek 16,000 | SR 20,000

U &= 16,000 | Hrfeca 4,000

oI Y[k 600 | wffex 14,000

TN 3T 60,000 | S ¥ grafer s

(1 3TFER, 2015 &l

10% dfieh & T) 30,000

ﬁ'ﬂ[ 3o ﬁo 16,000

1,40,000 1,40,000

o >

3fafts oA
(i) 31.03.2015 I 3189 Fa1 URT & 2,500 d91 31.03.2016 =l T 1,800 ff

(i) AR T 10% dTeh o | S0 T 8
(iii) a9 % AN H SR € 15,000 Hed o AT T o 37d H € 15,500 oI &

320/HIS/112A 14



22. Maya and Veena are partners in a firm sharing profits in the ratio of 3 : 2. Their
Balance Sheet as on 31st March, 2016 was as follows :

Balance Sheet of Maya and Veena
as on 31st March, 2016

Liabilities Amount Assets Amount
¢ ¢

Creditors 45,000 | Cash 20,000

Mrigya’s Loan 60,000 | Debtors 36,000
General Reserve 35,000 | Less : Provision

Capitals : for Bad Debts 1,000 35,000

Maya 80,000 Stock 48,000

Veena 40,000 1,20,000 | Plant and Machinery 60,000

Furniture 20,000

Motor Van 40,000

Computers 22,000

Goodwill 15,000

2,60,000 2,60,000

Mrigya was admitted as a partner for %th share in the profits on 01.04.2016 on

the following terms :

(i) Mrigya’s Loan will be treated as her capital

(ii) Mrigya will bring ¥ 25,000 for her share of Goodwill premium

(iii) The Provision for Bad Debts was to be increased to ¥ 2,500

(iv) Plant and Machinery were valued at ¥ 52,000 and Furniture at ¥ 18,000

(v) Value of Stock was to be appreciated to ¥ 60,000 and Motor Van to be
depreciated @ 20%

Prepare Revaluation Account, Partners’ Capital Accounts and Balance Sheet
of the new firm. 10

320/HIS/112A 15 [ P.T.O.



AT SR AT T BH H A18ER § 3R ATl I Sedi 3 : 2 oh I H Hd &l 31 ",
2016 ol 3T feufa-faawor 3q yehr o :

qrer 31R ST @ et - faaror
31 41, 2016 Ft
¢ ¢

THER 45,000 | Uehe 20,000

T S R0 60,000 | @R 36,000

T g 35,000 | &7 : 379 Ol

ot - % fqggEe= 1,000 | 35,000
o 80,000 ik 48,000
CiE| 40,000 | 1,20,000 | ©37 Ug w0 60,000
BT 20,000
e o= 40,000
R 22,000
i 15,000
2,60,000 2,60,000

gl 01.04.2016 1 @i # Ld o1 o ferw, o1 wreff w2 |reier & &9 # gorwr fozn @

(i) I % T I IHh S AT SO
(i) T T 25,000 39 9T o @A e o et
(iti) 3TIT O % T grae™ B e € 2,500 e s

(iv) FIF TF HRT 1 Hed € 52,000 qAT BATeR & Jod € 18,000 AR T

(v) &i® & qed H ghg W W T 60,000 F G T q "X I W 20% H W A
STIGIIT ITIT AT

qTcATeR @A, |ISIGR o YSfl @Td a1 5 % o1 fefa-foewo qam i
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Yammi and Alia were partners in a firm sharing profits in the ratio of 3 : 2.
Their Balance Sheet as on 31st March, 2016 was as follows :

OR / 3Ygat

Balance Sheet of Yammi and Alia
as on 31st March, 2016

Liabilities Amount Assets Amount

T T
Bank Overdraft 24,000 | Cash 10,000
Sundry Creditors 40,000 | Sundry Debtors 50,000
Yammi’s Loan 40,000 | Stock 46,000
Reserve Fund 36,000 | Bills Receivable 25,000
Capitals : Machinery 64,000
Yammi 60,000 Investment 40,000
Alia 60,000 | 1,20,000 | Fixtures 25,000
2,60,000 2,60,000

On that date, they decided to dissolve the firm. The realization of assets and
settlement of liabilities was as follows :

(9
Sundry Debtors
Stock
Bills Receivable
Machinery
Fixtures

(ii) Investments were taken over by Yammi at an agreed value of ¥ 50,000

(iii) Creditors were settled for ¥ 36,000

Y

44,000
52,000
22,500
50,000
20,000

(iv) The expenses incurred on realization were ¥ 2,500

Prepare Realization Account, Bank Account and Partners’ Capital Accounts.

320/HIS/112A
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Joft SR SAfeisT UH WH U AreRr off 9uT @i o1 dea 3 : 2 % I H R W off)
31 #=, 2016 i 3! fefa-faawor fe o

JHt 37T 37TfeTaTT T fesrfa-faawor
31 AT, 2016 Ht
¢ ¢

EERCIDICE 24,000 | Ushe 10,000
fofie oFer 40,000 | fafi= T9er 50,000
] hT SR0T 40,000 | % 46,000
g I 36,000 | yr= foom 25,000
5t - el 64,000
B 60,000 IECE 40,000
arfereT 60,000 1,20,000 | oo 25,000
2,60,000 2,60,000

Tt fafyr =61 3eH ®H o THTOH w1 i foran | eeaiEl | Sget den dEanstt o Faem e

TR H BT
(i) v
fafis eer 44,000
ik 52,000
I o 22,500
I 50,000
Torara=rd 20,000

(i) T = fEe € 50,000 4ed W o foqg
(iii) THERI &1 & 36,000 1 TAH T &0 Ferar L &= T

(iv) Seht == € 2,500
I W1, sie @Il a1 WIeieRi o Uit @I qIR i |
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( Analysis of Financial Statements )

SECTION-B

Wis—d

OPTION

|

IEETG M

( Toritr feramort w1 fervermon )

23. What are cash equivalents? 1
Uehg o 1 B 7
24. Name any six parties who are interested in the analysis of Financial
Statements. 3
U0 foredl ©: el & A difsre < T feramont % feveror & & waa 2
25. From the following information, calculate Cash Flow from operating activities : 5
Y
Net Profit as per Statement of Profit and Loss
for the year 2,20,000
Depreciation on Fixed Assets for the year 64,000
Increase in Reserve Fund 35,000
Income from Dividend 12,000
The balances of the Current Assets and Current Liabilities in the beginning and
at the end of the year were as follows :
Current items Beginning of | End of the year
the year
Amount (%) Amount (%)
Cash 1,50,000 1,70,000
Debtors 2,40,000 2,10,000
Inventories 3,20,000 3,60,000
Prepaid Expenses 24,000 36,000
Accounts Payable 1,60,000 1,40,000
320/HIS/112A 19 [ P.T.O.



S g1 g0 ufer TRt | ke varg <l ot i

T
AT fewor o TgER I3 o 2,20,000
TN hl TIATS TEITET O AT 64,000
o &N H ghg 35,000
AT | 1Y 12,000

<] T qT =Te] STfcal o 99 o YR 9 9 o 37d § Ffaiiad o o ¢

a1 73 Ty 1 IRET Y @ 37
i (T) i (T)

RE) 1,50,000 1,70,000

TR 2,40,000 2,10,000

= Lkl 3,20,000 3,60,000

Jaed =4 24,000 36,000

T @I 1,60,000 1,40,000

26. From the following items, calculate (a) Current Ratio, and (b) Liquid Ratio : 5
¢

Fixed Assets 1,50,000
Inventories 45,000
Debtors 30,000
Cash 60,000
Prepaid Expenses 15,000
Creditors 50,000
Reserves 20,000

frfeifiaa 78l @ () =e] AU a1 (W) T TG hi TUET SIS

¢
ToITg Tt 1,50,000
EerRl| 45,000
TR 30,000
The 60,000
Jaed o 15,000
THER 50,000
g 20,000
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27. From the following Balance Sheets of MB Entertainments Ltd. as on 31st
March, 2016 and 2015, prepare a common-size Balance Sheet :

Balance Sheets of

MB Entertainments Ltd.

Particulars Note | 31.03.2016 | 31.03.2015
No. T T
[. Equity and Liabilities
1. Shareholders’ Funds :
(a) Share Capital 40,00,000 30,00,000
(b) Reserve and Surplus 6,00,000 4,00,000
2. Non-Current Liabilities :
Long-term Borrowing 12,00,000 10,00,000
3. Current Liabilities :
Trade Payables 2,00,000 6,00,000
Total 60,00,000 50,00,000
II. Assets
1. Non-Current Assets :
Fixed Assets :
(a) Tangible 40,00,000 30,00,000
(b) Intangible 2,00,000 6,00,000
2. Current Assets :
(a) Inventories 12,00,000 10,00,000
(b) Cash and Cash
Equivalents 6,00,000 4,00,000
Total 60,00,000 50,00,000

320/HIS/112A
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um. st TeeAed ffite & 31 u, 2016 99 2015 = fou MU fefa-foeron @ um
AR o Teurfa-foemor aam Fifs

. &1, TeAH=ed foifids & feifa-faaror

faaor e | 31.03.2016 | 31.03.2015
q&q g g
I. GHAT U9 I9qrd
1. STIYTSH I I :
() 3P gsit 40,00,000 | 30,00,000
(W) 9= Ug e 6,00,000 4,00,000
2. TR-Te] A
dERTTcTeh 0] 12,00,000 | 10,00,000
3. e 3
IR 3T 2,00,000 6,00,000
oLl 60,00,000 | 50,00,000
II. grfaar
1. TR-=Te] gt
TS GHT
(%) Td gt 40,00,000 | 30,00,000
(@) Td et 2,00,000 6,00,000
2. =Tc] WA
(%) 3=t 12,00,000 | 10,00,000
(@) e Td Uhs oo 6,00,000 4,00,000
oLl 60,00,000 | 50,00,000
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OPTION-II
CETR M|

( Application of Computers in Financial Accounting )

( o= TrETehd § TR &1 TINT )

23. Define the term ‘electronic spreadsheet’. 1

ERECIE RS CHIEE R EGI RRRCAIE 1]

24. Preparing of reports using ‘Pivot Table’ provides various advantages for its
users. State any three such advantages. 3

‘Toate amofl’ =1 TN ek RO IR i 36k STANThTIS ol Sgd-d oy WH B ¢
UY ol i ol 1 3g@ iV |

25. What is a graph? Explain, in brief, the advantages of using graphs/charts. 5

T 1 g7 T/ o TAFT o AT %l H&9 H sy

26. What is a function in Excel? How is a function calculated? Explain. 5

TS | g T ST 27 B ohl TUMET HE sl STdl 27 GHEE)

27. Explain various items of earnings included in Payroll Accounting. 6

9-Udd oigierd 8§ gitifora st & fafis #el =61 goemeu|
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OLD

This Question Paper contains 27 questions.

=0 -9 o 3T=dqid 27 U B |

ACCOUNTANCY
[GICICT]

( Principles and Practice of Financial Accounting )

( Toita wrETeRa o Tagra td saaEr )

(320)
Time : 3 Hours | [ Maximum Marks : 100
a9 : 3 °0 | [ quTieh : 100
Note : (i) This Question Paper has two Sections—Section ‘A’ and Section ‘B’.

(ii) Attempt all questions of Section ‘A’.
(iii) Section ‘B’ has two options. Candidates are required to attempt questions
from one option only.

feor: () T IH-19 0 91 ©Ue §—Wvs 31 U9 @ o |
(i) @ ‘e % el TH H TA T 2|
(i) w@ve @ U Y faswew ¥ whenfial =1 Fow v faewew % & uwl % W A B

SECTION-A
Yus—-3H
1. Give one example of error of principle. 1
TgTfieh NG 1 Teh IS0 SifTL |
2. What is meant by unlimited liability of partners? 1
TEERT & A Tfiea | . sAfrgm 37

320/HIS/112A 24



3. What do you understand by common seal of a company? 1

U Rl ATE Gl | AT T THSA 87

4. Distinguish between Book-keeping and Accounting on the basis of ‘function’
and ‘scope’. 2

JEAUTTH U9 @i H & U &9 & IR W 3= Faist |

5. Explain accounting cost concept. 2

AR ANTd AT ohl THETEY |

6. Explain any two limitations of computerized accounting. 2

HFE{Thd @ ohl fohal &1 HHIST o1 Jui ity |

7. Distinguish between Capital Expenditure and Revenue Expenditure on the
basis of ‘purpose’ and ‘earning capacity’. 2

USTd =9 TF I 2 o e 359 Td ATH-3UTSH udl o SER T 3T FaTsy |

8. State any two features of Receipts and Payments Account. 2

T T A @ il foheel gt foriwaredt w1 3g@ whifs |

9. A, Band C are partners sharing profits in the ratio of 3: 2 : 1. C died on 31st
August, 2015. Sales for the year 2014-15 amounted to ¥ 5,00,000 and the
Profit on Sales is ¥ 1,00,000. Accounts are closed on 31st March every year.
Sales from 1st April, 2015 to 31st August, 2015 are ¥ 1,50,000.

Calculate the deceased partner’s share in the profit up to the date of death. 2

A, B 3R C WIEER & 91 ol o1 M6 3:2: 1 % Agd H od &1 C I 31 7,
2015 &I & TE| a9 201415 i foshl € 5,00,000 off qon fosht ® a9 € 1,00,000

oT| Wrd Ufded 31 w ot =< foru Sird 21 1 3@, 2015 9 31 7R, 2015 d% 6t foeh
¢ 1,50,000 2| gd TSR o, 39kt gg i fafdr 7o o, o § 9w &t o il
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10. Prepare accounting equation from the following transactions :
(i) Commenced business with cash—¢ 20,000

(i) Purchased a Building for ¥ 15,000, giving ¥ 5,000 in cash and the balance
through a loan. Also purchased Furniture of ¥ 7,500 from cash

(iii) Sold Furniture costing ¥ 1,000 for ¥ 1,500
(iv) Paid in cash ¥ 500 for Loan and ¥ 300 for Interest

e oFet 9 SET gl aIr Shifsg

(i) ¥RE TR ¥ =[MUR A T & 20,000

(i) ¥ 15,000 ¥ waq &1 %I fohan, a9 & € 5,000 F The PTAE R q A9 H
A 0 R fRaT| € 7,500 o1 Ahe A R EATeR ot Tl

(i) € 1,000 i AT & B B T 1,500 H o= f@m

(iv) ¥ 500 U b1 dAT ¥ 300 SATST <kl Aha YA ED)

11. Journalize the following transactions :

(i) Received ¥ 765 from Narendra in full settlement of a debt to his account
for ¥ 800; the balance amount is allowed as discount

(ii) Received ¥ 225 in cash for a bad debt written off last year

(iii) Goods drawn by proprietor for his personal use (cost price—? 400, sale
price—° 500)

(iv) Provide interest on capital of ¥ 10,000 at 5%% p.a. for six months

e el < UsHm=n § afafsat Hifs

(i) T&Z W ek @Id o € 800 % FI 1 U edd Foh1 o o Q. & 765 WH TY; AW
e W e T f{ M

(i) Toza ad st e wor erafafiad fran o 9 o1« Tehe WiW @ T € 225

(iii) FTEE-TH g FEGAT w1 S0 3T % T e o T (@ ged € 400,
fassa 7o € 500)

(iv) ¥ 10,000 =1 Isft T 5-1% a1ftieh = & A : HIE h AT H1 LM i

320/HIS/112A 26



12. Prepare a Bank Column Cash Book from the following transactions of Yogesh : 4

2015
January 1 Opening cash balance—% 150
Overdraft at bank— ¢ 1,000

» 2 Cash received from sale of goods—% 3,000 and deposited
the same into the bank on 4th January

» 6 Cash withdrawn from bank for office use—% 500
» 10 Withdrew from bank for personal use—? 100
» 15 Paid office rent by cheque—% 200

TS & T e O S Tl U st dar SFifs

2015
S 1 ST Uahg 39 € 150, sk ffaes € 1,000

» 2 aEgal # fehl | Tee U T € 3,000 R 4 St @ g% °

STHT 60 T

» 6 HETAT & ITAN & fou & ¥ iy et & 500
» 10 % ¥ = 37 & fow feeret € 100

» 15 R o oI o1 = g1 AW fRam & 200

13. Prepare Mohan’s Account from the following details : 4
2015
July 1 Credit Balance of Mohan’s Account—¥ 2,000

» 15 Amount Paid to Mohan—<¢ 1,000
August 16 Goods Purchased from Mohan—% 4,000
October 30 Paid to Mohan—% 1,980 and Discount Allowed—% 20
November 18 Goods Returned to Mohan—¢ 500

1 fareror @ e &1 @rar SR

2015
ENIN 1 TIE % @I & S AE—F 2,000
» 15 e &l Yrad fen—E 1,000
ITE 16 TiET 9 71 Wie—F 4,000
I 30 HIEH ol YAE RA—F 1,980 IR P2 UMW Te—F 20
EEL=T 18 TIE =l AT amad ferm—< 500
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14. Pass necessary Journal Entries to rectify the following errors :

(i) Payment of salaries amounting to ¥ 1,500 was debited to Personal Account

(ii) Goods amounting to ¥ 705 was returned by Sharda and was passed

through Purchases Book

(iii) Purchase of a chair from Gopal Furniture Mart for ¥ 65 has been entered

in Purchases Book as ¢ 56

(iv) An amount of ¥ 220 withdrawn by the proprietor for his personal use has

been debited to Trade Expenses Account

TS | IfafE o e STeIfadi o1 Sem i

(i) ¥ 1,500 %1 a4 =1 P T s s @d o 9 # for@ fean mn

(i) W& W T 705 FH AA AE T G F7 I 7 AfrereT eI mn

(iii) AT BTl ATE | € 65 1 FHl BRI T8 Sehl 77 18l # ity & 56 & T8
(iv) ¥ 220 H TR * Fau-w@nft 3 707 Tt 3w & forw e fon, i =R =

WId o AW ¥ foran mn

15. Show the treatment of the following items in the Profit and Loss Account, and

Balance Sheet :

Name of Accounts Debit (¥) Credit ()
Debtors 40,300 -
Provision for Doubtful Debts - 2,000
Bad Debts 700 —
Adjustments :

(i) There were further Bad Debts of ¥ 300

(i) Make a Provision for Doubtful Debts on Debtors @ 5%

320/HIS/112A



=1 met <t wfafs =1 aw-grfy @rar qon fedrfa-faeror 4 gwisu

@ & A9 T @) AT (9)
ER 40,300 —
gfery o o fau gragm™ — 2,000
YT 0] 700 —

YIS -
() faies e %9 € 300
(i) 5% N B TER W Gl 0N & T¢I L1 8

16. L and M are partners in a firm sharing profit in the ratio of 5 : 3. They admitted
N as a new partner for %th share in the profit. N brings ¥ 40,000 for his share

of goodwill and ¥ 1,00,000 for capital. There existed goodwill of ¥ 32,000 in the
firm’s books before N’s admission.

Make Journal Entries in the books of the firm after admission of N. The new
profit-sharing ratio will be 2 : 1 : 1. 4

L 3R M U %Y § HERR § 3R A1l 1 37Eed 5 : 3 % AU § Hd 8| 3w N H Ay
4 13 wm % foQ U WERR % w9 4 yew fEn N € 40,000 0 AW wAfd & qen

€ 1,00,000 USft % @RI N % Ta1 % qd BH i <@l gk § € 32,000 @AM * for@
7T A

N o a9 % qvETd BH ohl Sedl § U SitsAt hifee | = ard-aTe 3Tgurd 210 1
|

17. Make Journal Entries in the following cases : 4

(i) 100 debentures of ¢ 1,000 each issued at par redeemable at
10% premium

(ii) 200 debentures of ¥ 1,000 each issued at a discount of 5% redeemable
at par

(iii) 200 debentures of ¥ 1,000 each issued at 10% premium redeemable at par

(iv) 100 debentures of ¥ 500 each issued at a premium of 10% redeemable
at a premium of 5%
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frer &t AT gfafsat i -

()
(%)
(iii)
()

€ 1,000 9fd % 100 9] 1 T W 1, 10% Sifem «® siem
¢ 1,000 9fd % 200 T H 5% F2 W 70, a0ed | wMed

€ 1,000 9fd % 200 T H 10% Hfem ) fofe; a9qes | em
¢ 500 Ufd & 100 O 1 10% Hiftem | ffma; 5% fiftem ® mem

18. The Cash Book of CB & Bros. shows a balance of € 12,500 as on 31st
March, 2016. On comparing the Cash Book with the Pass Book, the following
discrepancies were noted :

(9

(4)

(iii)
(i)
(v)
(vi)

Cheques of ¥ 16,000 were issued during the month of March but of
these, cheques for ¥ 4,000 were presented for payment in the month of
April 2016

Cheques of ¥ 12,000 were paid into bank but of these, cheques for
T 9,000 not yet collected

Bank paid insurance premium—~? 500
Bank charges—% 30
Cheque directly deposited by a customer— 800

Interest on investment collected by bank—% 200

Prepare Bank Reconciliation Statement as on 31st March, 2016.

dt. #ff. sied h Yere o€ 31 W, 2016 I T 12,500 1 A9 201 & ot | Uehe o 1 I
I O e = | e o ume T

(9

(4)

(iii)
(i)
(v)
(vi)

¥ 16,000 & I ATE & HelH H 9 fhu 7u wfe 390 @ € 4,000 & 9% 3 2016
§ o % fore weqa fove o

¢ 12,000 3 =% o H SHT T TC Afehd 30 d € 9,000 & =ehi hi 31f} ageft 42
® e

e 7 s S 1 oA fRn—¢ 500

d% = 9—7F 30

ek 3 = g 5|1 . feam—~ 800

de = faf=im w == wwha fmR— 200

31 A, 2016 wl S gAML forawor SRy
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19. Bata Ltd. issued and allotted 1000 shares of ¥ 10 each at a premium of ¥ 3 per
share payable—% 3 on application, ¥ 5 (including premium) on allotment and
¥ 2 on first call and the balance ¥ 3 on second and final call. All money was
duly received except of Mr. Taman who was allotted 100 shares. He failed to
pay allotment and on his subsequent failure to pay the first call, his shares
were forfeited.

Journalize till the receipt of second and final call. 6

arer f1. 9 € 10 ufd % 1000 3191 & 3 gfa =791 fftem w fnifia forw wa 3t ermaeq fom|
a1 PTaM 38 YR BF1 I—F 3 e W; € 5 Aded R (Sfifem afmfea); & 2 vom
e W Tg € 3 g @ eAfw A W |t it Jured I gE had aed i Siee
fSrEeh 100 3191 TEfed foRT TTT 9| 39+ ST W1 1 e & o | Som Jre T ok
YA 7 T T IFeh M I Sted B o | g wa sif<am = afyn <t wifw a6 i
T gfafsat Fifsg |

20. Hall Ltd. purchased a building for ¥ 10,80,000 and payment is to be made by
the issue of debentures of ¥ 100.

Give Journal Entries in the following cases : 6
(i) Debentures are issued at par
(ii) Debentures are issued at a premium of 20%

(iii) Debentures are issued at a discount of 10%

g T, 3 € 10,80,000 # 9o @lE @& Jram € 100 % Fod=l o fHHT g fe
ST R

e feorfomnt & A= wfafs=n $ifse -

(i) T T T wHed W TR
(ii) FOAT 1 AT 209% Hiftem w fern e
(iti) TG 1 TR 10% w2 R fFam
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21. From the following Trial Balance, prepare Trading Account and Profit & Loss
Account for the year ending on 31st December, 2015 and a Balance Sheet as
on that date :

Name of Accounts

Dr. Balances

Cr. Balances

T <
Sundry Debtors 32,000
Stock (01.01.2015) 22,000
Cash in Hand 35
Cash at Bank 1,545
Plant and Machinery 17,500
Sundry Creditors 10,650
Sales 1,34,000
Trade Expenses 1,075
Salaries 2,225
Carriage Outward 400
Rent 900
Bills Payable 7,500
Purchases 1,18,370
Discount 1,100
Building 34,500
Capital 79,500
2,31,650 2,31,650

Additional Information :

(9
(i)
(iii)
()
(v)

Stock on 31st December, 2015 was valued at ¥ 12,450

Write off ¥ 400 as Bad Debts

The Reserve for Doubtful Debts is to be maintained at 5% on Debtors

Provide Depreciation on Plant and Machinery at 10% and Building at 2%

Outstanding Expenses :

320/HIS/112A
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=1 aeue @ 31 TREwsR, 2015 & T 99 o T AR Td A19-81 GTdr sH18T a1 e

fafor =1 fesrfa-foemor oft dam fifsw -
@rd &1 TH T Iy ST I
g g

fofia aer 32,000

W% (01.01.2015) 22,000

TEALY Ths 35

5% 4 Uhs 1,545

I3 vd Hf 17,500

IEIEERSGEALS 10,650

EED 1,34,000

SR = 1,075

ERE| 2,225

RIS 400

forrn 900

& faum 7,500

w7 1,18,370

T2 1,100

T 34,500

dsht 79,500
2,31,650 2,31,650

[a)

g

37fafts e
(i) 31 fe@mR, 2015 &l Rl H qod € 12,450 AT T

(i) ¥ 400 TUTH FO & {AfcTlad F g

(iti) <R W 5% ¥ Giey o & folt T= sH WA 8§

(iv) G Td T W 10% q1 Wad W 2% U LI hl YL BT &

(v) TET = : TohET € 85 YT =UR =59 € 150
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OR / 3Ygat

From the following Receipts and Payments Account of a club and from
the additional information supplied, prepare an Income and Expenditure
Account for the year ending on 31st December, 2015 and the Balance Sheet as
on that date :

Receipts & Payments A/c for the year ending on 31st December, 2015

Dr. Cr.
Receipts Amount Payments Amount
< T
Balance b/d 250 | Salaries 1,200
Subscription : General Expenses 300
2014 250 | Electric Charges 200
2015 1,000 | Books 100
2016 200 | Newspapers 400
Sale of Old Furniture Postage 50
(costing ¥ 100) 60 | Furniture 250
Rent Received for the Balance c/d 500
use of Hall 740
Profit from Entertainment 400
Sale of Newspapers 100
3,000 3,000

Additional Information :

(i) The club has 50 members, each paying annual subscription of ¥ 25.
Subscriptions Outstanding on 31st December, 2015 were ¥ 300

(ii) On 31st December, 2015, Salaries Outstanding amounted to ¥ 100 and
Salaries Paid included ¥ 100 for the year 2014

(iii) On 1st January, 2015, the club owned Land and Building valued at
T 10,000, Furniture valued at ¥ 600 and Books valued at ¥ 500
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T FAS oh I TIH TF A @Al qe i g 9 31 faereR, 2015 Hi 996 a9 6
foTu e va = @rar sAEy qon s fafa s feurfa-foero e hifsw

gTfe TF YA @rar 31 fagwer, 2015 @ G9E a% & forg

Dr. Cr
qifear yED YA yEl
g g
Y 3o dlo 250 ERE| 1,200
a7 M = 300
2014 250 forstett = 200
2015 1,000 TEih 100
2016 200 HHER-TA 400
U i TeR 1 T eSS 50
(ST gea € 100) 60 i 250
il TR Tl Rl T 740 AT 37T To 500
TS § e 400
IUER-T1 &1 o 100
3,000 3,000

3fafts e

() FAS % 50 S T YA T 25 aIeh wal od §; 31 fewEsR, 2015 = 31€q wa
F 300 o

(i) 31 fe@m=r, 2015 & 37187 da4 & 100 7| JTaH T 7¢ 9a9 § € 100, a9 2014 &
o afefera on

(i) 1 e, 2015 I Fa o @A § 9 1 7@ we1 € 10,000 Hed, HH=R T 600
e Ud g&d € 500 4ed
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22. X,Y and Z are partners sharing profits and losses in the ratio of 3 : 2 : 1. Their
Balance Sheet as on 31st March, 2015 stood as under :

Balance Sheet of X, Y and Z as on 31st March, 2015

Liabilities Amount Assets Amount
Y Y

Bills Payable 90,000 | Cash at Bank 44,000
Creditors 36,000 | Debtors 70,000

General Reserve 18,000 Less : Provision 10,000 60,000

Capital A/cs : Stock 80,000

X 1,40,000 | Investments 40,000

Y 1,60,000 | Furniture 48,000

Z 1,00,000 | Machinery 2,48,000

Goodwill 24,000

5,44,000 5,44,000

On the above date, Y retired. The following were agreed upon :

(i) Goodwill of the firm will be valued at ¥ 90,000

(ii) Value of Machinery and Furniture to be depreciated by 5%

(iii) Provision for Doubtful Debts to be maintained at 20% on Sundry Debtors

(iv) Out of Total Insurance Paid, Premium amounting to the extent of ¥ 1,000
to be treated as Prepaid Insurance

(v) The Total Capital of the new firm is decided to be ¥ 2,40,000. Necessary
adjustments to be made in cash

Prepare Revaluation A/c, Partners’ Capital A/cs and Balance Sheet of X and Z
after Y’s retirement.
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X,Y U9 Z GTEER § 3R i o1 mEed 3:2 : 1 % 31gUd H & ¢l 31 W, 2015 @

e Tesrta-faamor e o
X, Y g Z @7 fefq-faaeor
31 7=, 2015 &t
g g

3 fau= 90,000 &% § Ashe 44,000

SR 36,000 SRR 70,000
M 999 18.000 2T . JIaY 10,000 60,000
ECUE i 80,000
X 1,40,000 farfamm 40,000
Y 1,60,000 B 48,000
Z 1,00,000 T 2,48,000
EC iG] 24 000
5,44,000 5,44,000

3uUreh fofr =l Y3 s1eshre Tevn fera do e ot wewld g

(i) ®H & = w ged € 90,000 BN

(i) TR 3R BfteR &1 i 5% A fora Smam

(iti) Tofira gaeri w dfge =i & fau 20% =1 IEe™ W@ S

(iv) Fa o fifew § 9 € 1,000 6 Al w6 gdeq sfiwr 7= Sem

(v) % ®H & FA Gt T 2,40,000 B | STETIFR GHRISH F6g H 7T

qcATeR @Al a1 HTEeR] o Ysil WA H1ST a1 Y oh STah1RT T80 L o o 9vaTd, X UF Z

1 fesrfa-faemor samEw)
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OR / 3Ygat

Following is the Balance Sheet of Anand and Vishnu as on 31st March, 2015 :

Balance Sheet as on 31st March, 2015

Liabilities Amount Assets Amount
¢ ¢
Bank Overdraft 10,000 | Cash 59,000
Bills Payable 26,000 | Debtors 90,000

Creditors 30,000 | Less : Provision 12,000 78,000

Workmen Compen- Stock 70,000

sation Fund 54,000 | Furniture 60,000

General Reserve 21,000 | Machinery 1,20,000

Capital Accounts : Goodwill 54,000
Anand 2,00,000
Vishnu 1,00,000

4,41,000 4,41,000

Anand and Vishnu were sharing profits and losses in the ratio of 2 : 1. On
1st April, 2015, they admitted Krishna as a partner. The new profit-sharing
ratio is agreed as 3 : 2 : 1. Other adjustments are as under :

(i) Krishna is to bring ¥ 90,000 as capital and it was decided that the capital
of all partners shall be in proportion to their profit-sharing ratio

(ii) The goodwill of the firm is valued at ¢ 1,20,000 and Krishna will
contribute his share of goodwill in cash

(iii) All debtors are good
(iv) Depreciate furniture by 10%
(v) Any deficiency or excess of capital will be adjusted through cash

(vi) Anand will pay off bank overdraft

Prepare Revaluation A/c, Partners’ Capital A/cs and Balance Sheet of newly
constituted firm. 10
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A= 3R fowp =61 31 A4, 2015 1 fEfq-fewo f= fen w2

31 #rE, 2015 @t ferfa-faawor

g g
S Aferforerd 10,000| Uws 59,000
7 T 26,000 <R 90,000
THER 30,000| &7 : YEUH 12,000 78,000
HIER fgfd 54,000 %% 70,000
YT G 21,000| SR 60,000
ISt @ - i 1,20,000
A=< 2,00,000| wIfd 54,000
ferong 1,00,000
4,41,000 4,41,000

A5 3R foamy -2 1 et 201 % U § R W 9| 1 A, 2015 F IwH
FT ! TH WEER & &9 H g9 fean| a7 gen fop o ana-g1f 1gama 30 2 1 1 8 3=

THEISH 39 YR 9 2

(i) FM T 90,000 YS{t % AT HR qF T3 foh Al WREW AT YS IR A1 @A

g | gl

(i) H I TN w1 oA € 1,20,000 TRIT =1 qAT FOM T 9T hT @I hw AT

qohe T T

(it) Gt ITER wE A

(iv) A= T 10% STFEI0 SR ST
(v) USt T S FH StorET TR T THESH e T B
(Vi) AR S AR F1 YTaE HIT

ITHeTeR WTdT, ATSIER o6 Ysit WTd a1 15 % o1 fedrfa-foaawo samsu|
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SECTION-B

Wis—d

OPTION-I
ICETR S|

( Analysis of Financial Statements )

( Toritr feramort w1 fervermon )

23. What do you understand by common-size Balance Sheet?

O AR o [erfd-Toemor = o 219 27

24. Calculate Opening Stock and Closing Stock from the following information :

Sales during the year—% 4,00,000

Gross profit on sales—25%

Stock turnover ratio—8 times

Closing stock—% 50,000 more than opening stock

71 9= 9 SR Wi T IAfaq ik i TUET HiNT -
T8 7 fasa—F 4,00,000

fosh T Tehel TNH—25%
ek IAEd ITIId—8 TR
Jfm T AR Wi ° € 50,000 3AfF o

25. Give any two purposes of analysing Financial Statements.

ot foraeon & fawawor & #2182 32w IdEu)

26. Current ratio of a company is 3 : 1. State, giving reasons, which of the following
would improve, reduce or not change the ratio :

(i) Issue of bonus shares out of profits

(i) Redemption of preference shares out of proceeds from fresh issue of
shares of equal amount

(iii) Purchase of computer on credit of two months

(iv) Sale of goods for ¥ 80,000 on credit of one month
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TS HUAT R AT SAIIE 3 : 1 8| HRU o Farsy fF e § 9 wF-61 39 ogaa | afg
UM, IH 7 HUTM AT THH I Iiad &1 Ham :

(i) T H @ T AN w1 AT

(i) TEE Hed ot TRT e TG A 6 AT 8 9 7§ qaifeemr 390 a0 eE

(i) & HEN % IR TR HFRI H

(iv) TH TEH &% IUR W T 80,000 % HA 1 forsha

27. From the following Balance Sheets of Raj Ltd. as on 31.03.2014 and
31.03.2015, prepare a Cash Flow Statement : 6
Balance Sheets of Raj Ltd.
as on 31.03.2014 and 31.03.2015
Liabilities 31.03.2014 | 31.03.2015 Assets 31.03.2014 | 31.03.2015
T T < T
Equity Share Land and
Capital 40,000 60,000 Building 50,000 60,000
General Reserve 20,000 30,000 | Machinery 30,000 35,000
Profit and Loss Stock 20,000 25,000
Account 10,000 15,000 | Debtors 10,000 20,000
Creditors 30,000 35,000 | Bills Receivable 5,000 8,000
Bills Payable 20,000 15,000 | Bank 5,000 7,000
1,20,000 1,55,000 1,20,000 1,55,000

Additional Information :

Depreciation charged on Machinery during the year was ¥ 6,000.
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s T, % 31.03.2014 Td 31.03.2015 w1 = fou mu fefa-faeon @ Uone varg foewo

é?m aﬁli\aa :
TSt 7. & fefa-faaeor 31.03.2014 U9 31.03.2015 I
qqrd 31.03.2014 | 31.03.2015 qEgfaar 31.03.2014 | 31.03.2015
g g g g
GHAT 37 Y 40,000 60,000 | ¥ Tg waq 50,000 60,000
M 9= 20,000 30,000 | #w3fih 30,000 35,000
AT -BTH @t 10,000 15,000 | i 20,000 25,000
[GEEALS 30,000 35,000 |31er 10,000 20,000
2 oo 20,000 15,000 | 9t fau=x 5,000 8,000
EED 5,000 7,000
1,20,000 1,55,000 1,20,000 1,55,000
SARE G :
39 W 99 H ST Rl TRI— 6,000
OPTION-II

23. Give two examples of direct materials.

TeeT |t o 21 ISR I |

( Elementary Cost Accounting )

CETR M|

( IRk AR TR )

24. Give the differences between Financial Accounting and Cost Accounting on the
basis of ‘objective’ and ‘time period’.

o @R 3T ANTd dETehd B 3E9d U4 HEY AU % TR W A=l 9d1U |
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25. Cost of a product is ¥ 900. Profit on sale price is 10%. Calculate profit
percentage on cost. 2

3cq1E 3 AT € 900 B foeha Hedt W o 10% 8| T W @ wierd i o i |

26. From the following information about Sangam Ltd. in respect of
Material No. DC 46, calculate (a) Reorder level, (b) Maximum level, and
(c) Minimum level : 4

Normal consumption—200 units per week
Maximum consumption—500 units per week
Minimum consumption—100 units per week
Reorder period—4 to 6 weeks

Reorder quantity—2400 units

o a1, & amft 9. DC 46 & wafea = g @ = & e fife—(F) 1316w
T, (@) 3feepdd TR, T (1) =Jad

M IUHRT—200 FHTS Ifd THTE

fersRam IUTT—500 318 Ifd |HTE

[T IJYI—100 TS Tid THTE

Q- 3TeT FEfU—4 ¥ 6 WHE

I AT HAT—2400 TS

27. From the following information, prepare a Cost Sheet for the period ending on
31st March, 2015 : 6

Opening Stock of Raw Materials—% 8,400
Purchases of Raw Materials—% 1,24,000

Closing Stock of Raw Materials—¢ 10,500

Direct Wages—< 60,000

Direct Expenses—? 20,000

Factory Overheads—80% of Direct Wages

Office and Administrative Overheads—25% of Works Cost
Selling and Distribution Overheads—% 24,000

Cost of Opening Stock of Finished Goods—¥% 12,000
Cost of Closing Stock of Finished Goods—¥% 15,000
Profit on Cost—25%
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7 g=1 © 31 "€, 2015 1 GHIE 3119 3 T AN foew I i -
el AT R TR =ih—F 8,400
et gl 1 wE— 1,24,000
et g R 31 wie—T 10,500
Tg& ASigil—v 60,000
& FI— 20,000

FREMHT ITNET—IcTed Toigd &1 80%

FHETAT Td YRE R ITNEI—RR™ N sl 25%
fasra T T 3uf@m—e 24,000

IR AT & AREE Tiah il ara—~e 12,000
JIR T o 319 Wik it Ana—~e 15,000
AITd 9T ATH9—25%
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